E=mAe:] EESSW 22 Bt T2 T)E
(2) 12:40~15:50 £
221U Al (3}) 12:40~15:50 A A cHol &
(%) 13:30~16:40
XHA = o 5,68, 72 24 3t
= AEMYE, /2, X, EQ0lA - KNOCK KNOCK
AEYEA- O2: HEN A2 F, LUO2IAMIE AEY A, 22
20|11 &8ldle B =22 91 HXA.
1 sStSU= CHOIOtE2E KA. @B, 212 SHHIEE 20|10 U2 2 RE 4=
F &2 Ug &) QEE AZHS0CZE 222 J|20]7).
E 20| A—signal, 2~HAICH | got a boy
SIEX2 sot QIKE
Al & 2] 12.13,142 ey 8,3,
Z=H AEYE, /2, X Bruno Mars — Runaway Baby
A2 - 1.EHH(2EL0| ALE0 FHolAH E2 22 HJUTNUA
o S ELRH 4H HY £ LEURMH HQ 22 QEZE A0E ®]
e HXA2, LEY4AH R & 2 Tl S 202 AQIE ® D H K.
E 20l A-signal, 2EAICH | got a boy
=P g, QIHHE
pAIN e 2 19,20,21& 2 2,8,
=Ml AEQE, /2, X ,Bruno Mars — Runaway Baby
2EHINAMUHAN QELEHIYH Q2 £ A% MO ZH Q2R
o110, 2= ED|J| (BHHE gt=)
3 s 3.ZHIMNANA LELRH 4H 2 = Q2Y QEZ0OZ (|S5IHA
e S22 2EF gozZ Ho|E, Y 2AEXOCZF (|SolHA 2ES2 A=
YO=R folE.(ptxE ere=)
E240| A-signal, AHAICH | got a boy
=N S QIHHE
XAl +2 =1 26,27,282 fo X1} 2,582
=H AEYE, 4, 8X,Bruno Mars — Runaway Baby
4. ZHIXNANUHAN QEY 1 U2 Q20U B2 i 20|12 &I,
Hi2 22 =10 QU0 AZ0OE 2 20 20i21.(2 mA
_ HIO)(PIE BHe)
4 SSE e A L o
SEHIALNIONA HE 20X €8l & 2 ) 902 = 01
LELEH ME A0 (BHHHE BH=)
E 20l A-signal, AEHAIL | got a boy
S sot QIHHE
XHAI =2 ol ey &.8,%
=Ml
5 sSsllE
S5z




